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Q Revision worksheets RI to R16

Key concepts from Grade 4

©) Worksheets:1 to 64

Boak 2
) Worksheets:65 to 144
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The structure of a worksheet

Worksheet number Worksheet title
(Revision R1 to R16,
Ordinary 1 to 144)

Topic introduction 4
(Text and pictures to help you think about et 5“5“5‘“ aEWW? o
and discuss the topic of the worksheet.) Brr-—ordrss
10+4=|;| or7+7=l;|
9+2=|;|0r10+1=|;|
1o+z=|;| or7+5=l;|
1. Fill up the tens.
- =10 - =10 Are there more combinations that
Term indicator . EG . meaweer
(There are forty worksheets per term.) - . - .
[eva] -n [o¥a07] (=10 E—
a 3+J- ] S N c2v -]
; a.6+J- ] e 1+1- ] f 7+ -
Questions 00 0- O el 00
2. Fill up the tens.
i =40 - =30 Find another five combinations
- =20 - =70 that will add up to 100.
Colour code for content area = - E
Content Side bar colour s8] =100 [ssva -
- a,32+|;|=|;| b,46+|;|=|;| c,54+|;|:|;|
Revision Purple A T R o IO o
Number Turquoise n hooa sl =[] i sae -]

g 1o W 92 18 14

Patterns and

functions (algebra) Electric blue

Space and shape

(geometry) QIEIEE

Language colour code:

Afrikaans (Red), English (Blue
Measurement Green (Red), English (Blue)

Data handling

3. Fill up the hundreds.
Example: 486

Example frame (in yellow)
a. 368 b. 371 ‘c 684
f.

o

d.519

[ || - |
y

4. Calculate the following:

Example:
Calculate 2 486 + 48

2486+48
=(2486+14)- 14 +48
=2500 + (48 - 14)
=2500+34

=253

a.3526+97 = b.6537 +84 = Cc.4833+95=

Fun/challenge/problem solving activity
(This is an end of worksheet activity that may include
fun or challenging activities that can also be shared
with parents or brothers and sisters at home.)

d.1789+39= €©.2786 +56 = f.8976 +41=

g.4324+98= h.8159+62= .6847+73=

The concert

7894 people came to see a concert. There were 68 secuity guards. How many people were in the
stadium?

Teacher assessment rating,
signature and date
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Note that the first
16 worksheets
will be revis_ion

R1a p¥=Base Ten Counting

Do not count the
individual oranges.
How many oranges are there? Count them as

2000009000
See how fast can you count them. 2000000000 O
2000000009
29099990909
2909909929090
2929000099000
29000000000
2000000000
2900022209
DOV 5329922225
1. Countthe oranges.
3333333333
a. b. 2222022209
99999 3333333333
DIIIIDDDIDD
23933932399
2930933399
202320323209
3933232332

c. 29999000099 099909090000 29992000000 232233923992 ®
2393399323939 9233329000039 239339933939 29399999900
29090000000 0000000000 202009029909 23222232323
20020000000 0000000000 2020000020 2000000000
29020000000 0000000000 2020000000 20209909200
299090900909 09900000009 299090000999 2900000900
2000990000 0000920000 209099909900 209592092990
2299929999 002202992990 2990000990 29200920909
2000020922 0000000000 2000000000 2000000000
29990090000 09920000000 2000000000 2000000000

2900000000
2990000000

(ST=TEReTETS TS T
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®

20999999%% 3290000000

2000200000
2092290000
2000200000
233223323023

2200020009
2220220333
2222990000
23233222023

e. 9299009299929 99909922999 23239322239 2229002395299
2920029200990 0920020020 292900202929 2339523592929
2900000000 0000000000 2900000999 29000090900
2329020222 2222020922 2229920222 23222920222
299000099000 0000000000 292900992099 02929009929
293222929292 992222229990 29922020990 29322322929
2399939202 92990929930 299092299209 239229239229
2909090000000 0000000090 23939992299 23929959299
23323229392 9233929293999 299929999909 23939322999
2992000000 09000000390 33232322232 2233223229392

IE

oooooooooo 2323322323232 323D IDID
2999999909 2353333322 3333332332
9003000000 25s2233s: 3333333333
323233233303 3333239303
23322332239 233233293232
2232220203 22322090003
° ° 23322222032 o 2322333233
333332332232 2232303299 0099200000
392359555
3333333333 0000000000 0000000000 3333333333
3323223232323

DIDIIIIDIDD

3333333333 9000000000 3333333333

39332332239 3322323223

333333333 9000000000 o 2000000000

33333233333 s To Ju In T B 1o Je Is s |

333332320322

3333333

HHHRE
3333333333 2000000000 3333333333
2292229229 3232333205 o
2005203003 2322323223
3333333333 0D
3333235339 9900000000
229222900002

20923200000
2002900000
2000220000
2092200000

22900220009
2290000009
2292990000
232932002093

continued @
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Base Ten Counting continued

Lelalalalalalalalalsl
(el lalolololalelolsl

How many oranges are there?

Q
=
©
(%]
Q
=
=
>
®
=
(%]
Q
X
o
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©
C
®
(2]
(@)
©
©
Q
=
=
%)
Q
(@)
C
o
o
Q
(%]
Q
=
=
©
(¥ -
(@]
®©
b}
o
+—
Q
=
e}
)
c
=
o
@)
o

number of oranges as above.

aanoennn
ananonnnen
anaanNAnen

ananonnnen
anaanNAnen
onasanaannn

anaasennenn

ananonnnen
anaanNAnen

onoannansn

29399399

ananonnnesn
anaAanNAnen
pelalslololelalalelol

kslalalslulolslalols]
[alelalololslalelsl
aooanoosnn
aanansnns
hoAnaBAOnn
sladelei=lolalodoly
anoAnOannn
ananonnnesn
anaAanNAnen
el lalalelelalalelel
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3. Each box shows the total number of objects inside each box.
Write down the total number of objects.

How quick are you?

What to do:

What you need:

- Play in pairs.

— Cut-out the cards from the

back of your book.

- Place them face down on your

et ]
e
PR S Uwe e
et ]
e
PR S Uwe e

desk.

- You choose five cards and your

partner chooses five.

— Turn them over at the same

fime.

- See who can give the total the

quickest.

- Check your partner’s answer.

18 16 17 18 19 20 241

- Do the same using 6, then 7, 8, 9
and 10 cards.

- The person with the most
correct answers is the winner.

28 26 2y 28 20




R2a pp¥=Numbers 0 — 10 000

What number will these cards make?
In digits
itis

{ =) m) 3621
|
Eight thousand six hundred In words
itis

and twenty-one

1. Complete the following and also write your answers in words:

N
a.

three hundred and forty

8 |=
- -

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



3. Complete the following as in the example:

723 =7 hundreds + 2 tens + 3 units

continued @

16 17 18 99 20 21 22 23 24 28 26 2/ 238 20
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R2p :—_.- Numbers 0 — 10 000 continued

. Look at the first example (a).
Now write the other numbers in expanded notation.

. 654 =600+ 50 + 4

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16




5. Write the following in words.

), {0]0]

@, & 00

d. 730

e. 2200

f. 4729

What is the size of your number?

. Remember
What you need: What to do: zerois a

Cut-out 3. ) ) place holder.
- Play in pairs. r

- Each player rolls the thousands (blue),
hundreds (red), tens (green) and units
(yellow) dice.

- Each player then makes this four digit
number with his or her own number
cards.

- The winner is the player with the greatest
number.

- Do the same activity five times.

18 16 17 18 19 20 21 22 28 24 28 26 Zv 26 29 &
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R3a p¥=ratternsin addition and subtraction
LA t0,10 000

What do addition and subtraction mean?

What does
addition
mean?

— "

What does
subtraction
mean? '

1. Complete the pattern:

+ 100 + 100 + 100
v
a.
— 200 — 200 — 200
v
b.
®
+ 500 + 500 + 500 +
¢ [0 ][ tooo [ Tsw ]
+ 300 + 300 + 300 +
o a0 ][ oo [ 1w ]

- 400 - 400 - 400

| sboo ([ et || ade’ |

X

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



2. Complete the pattern:

a. 200, 400, 600,

b. 400, 800, 1 200,

c. 1000, 1 500, 2 000,

d. 92000, 8 000, 7 000,

e. 7700, 7 600, 7 500,

3. Complete the table by filling in the missing numbers.

Complete to the next 10 Complete to the next 100

2

17 18 19 20 21

continued @

22 28 24 28 25 2y 28 290 U




R3b Ratterns in addition and subtraction

%te: 10 000 continued

Examples:
Example 1:

5783+ 129

5000+700+80+3+ 100+20+79
5000 + 800 + 100 + 12

5000 +900+ 10 +2

5912

Example 2:
32 47
T 7 3 8
15 (8+7)
7 0 (40 + 30)
9 00 (200 + 700)
+ 3000 (3 000)
39 85

4. Use both methods above to calculate the following. Write down the steps you use.

a. 654 + 43 = iSRSl Lottt /<7 i G Ve
Continue on an extra sheet of paper.
@y 4 1leyiis s il = CRNANS Gl e S l= RO AR TS CRG =

Confinue on an extra sheet of paper.

© 1 2 38 4 8 G 7

® 90 11 12 18




Examples:
Example 1:

8342 -2131

6000 +200+ 10+ 1
6211

5. Choose one of the methods above to calculate the following. Write down the steps

(8 000 — 2 000) + (300 100 ) + (40— 30) + (2 - 1)

2
1

1 (2-1)

10 (40 - 30)

0  (300-100)

- 6 0 0 0 (8000-2000)

6 2 1 1

yOu use.

a. 7182-61= b. 7 546 — 431 = C. 8764-3451 =
Continue on an extra sheet of paper.

d. 2456 -83 = e. 4658 -999 = f. 8759 -4793 =

Continue on an exira sheet of paper.

What you need:

- Use the 10s, 100s and
1 000s dice made in the
previous activity.

- Piece of paper.

16 16 17 18 19 20

What to do:

What is the size of your number:

Roll the tens (green) dice.

Add the number landed on, to the first number on
the blue card. Write your addition sum on a piece of
paper.

Do the same with the next four numbers.

Repeat the activity with the 100s and 1 000s dice.
Learners check each others’ additon sums.

The winner is the person with the most correct answers.

- Repeat the
activity using
subfraction.

Xiii

21 22 23 24 28 26 2V 28 20
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R4a pr=Multiples and Multiplication

What do multiples and multiplication mean? Use the words to help you to describe
them.

What does mul’rlply
multiplication roups of
X mean? 1, g p
times
multiplied by
Multiples example:
e Some multiples of 2 are 2, 4, 6, 8, 10, 12, 14, 16, 18, ...
e Some multiples of 4 are 4, 8, 12, 16, 20, 24, 28, 32, ...
1. Complete the number board. We have done a few for you.
a. Colour all the multiples of 2 yellow.
b. Circle all the multiples of 3. @

c. Make a triangle around the multiples of 4.

1 4 5 § 7 8 9

(3
o)

D [ BN | Y

5

2

© oo N o o1 B~ w Nk X

36

8 4 8 G 7 8 9 90 911 92 18 14



2. Estimate the number of fruit. Then write two multiplicaton sums

‘Tee wee

- 99 00 00 900
2 O O O

O

0
o

o 00

S
D

D

o 90 00 O

18

KXl IiI X1l
PPPPePRPREe
P99 PRPRRe

Sign:

Date:

18 16 17 18 19 20 21 22 28 24 28 26 Zv 26 29 &



Multiples and multiplication continued

C

o0000
o000e
o0000
00000
o060
00000
00000
o0000
o0o000
o00e000

o00000
o00000

o000000

29 2000000099
299009290

2990000000 29500000090
>
2
J
9
9
2
2

299000029990 0090000999 2050000290 99950000299

2990000000 0000000000 2000000000 9900000000
299090000000 0000000000

2990000000 2000000000

oo00000
0000000
0000000
0000000
eoo00600
0000600
0000000
0000000
0000000
000000

o0o00000
0000000
0000000
0000000
eoo00600
0000600
0000000
0000000
0000000
000000

oo00000
0000000
0000000
0000000
eoo00600
0000600
0000000
0000000
0000000
000000

oo00000
0000000
0000000
0000000
eoo00600
0000600
0000000
0000000
0000000
000000

2990000000 9000000000 2090000000 2950000000
29990000000 0000000000 2000000000 2900000000
2990000000 29000000990 2000000000 2990000000

® 10 99 92 18 14 &
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Examples:
Example 1:

56 x5

(50 + 6) x5
(50 x 5) + (6 x 5)
250 + 30

280

Example 2:

OO Oo|u»; o~

3. Use both methods above to calculate the following. Write down the steps you use.

Q. 24x3= b. 52x9 =
Continue on an extra sheet of paper.
C. 23x21-= d. 46 x37 =

Confinue on an extra sheet of paper.

What you need:

- Use the 10s and 100s
dice made in the
previous activity.

- Piece of paper.

16 16 17 18 19 20

In one minute | can ...

What to do:

— Roll a 10s dice and then a 100s dice. Multiply the
two numbers. Write down the multiplication sum
with the answer.

— Repeat doing this until your teacher says stop.

— Give your sums to your partner to mark.

The winner is the person with the most correct
multiplication sums.
Do the same activity, but roll the 100s dice twice.

21 22 28 24 28 26 2U
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- Bivision and Factors

What does division mean? Use the words to help you to describe it.

divide
What does .
division remainder
mean? ..
r\ divided by
share

1. Look at the coloured squares. Write a division sum for each.

a @24-6=40r24-4=¢ b @

c. @

XViii
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2. Complete the flow diagrams:

a. b. C.

Input Rule Output Input Rule Output Input Rule Output
35 25 42

42\ 15\ 6 \

56 / 45 / 30 /

63 35 36

3. Write a word problem and division sum for the following:

oee
eee

> Q@

continued &
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S
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(©)

(0p)

—

©)

-
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©
(Vi
O

C

©

C

QO
D
=
@)

D00
9009309393090
2393939339399
2933393399
DI3DI3I39I399

ascoo0000n
aesoocs0oen
aooeoecoooe
eso0o00000
acsootedon
asosotoaae
Leludololololodlols]
soo0o00000
aodooto00e
assoocodon

ascoo00000
aesoocs0oen
aooeoecoone
000000000
asdoscoson
asosotoaae
Leludololololodlols]
soo0o00000
aodooto00e
assoocodon

aocoo0000n
aesoocs0oen
aooeoecoone
o000000000
asasncodon
asoaocnosae
Leladilolololodolols]
Ssocoo00000
aodoo0o00R
assosocodnn

ascoo00000
aesoocs0oen
aooeoecoone
200000000
astoocoon
asofononase
Leladololodolodilols)
So00000000
aodoo0o000®
assoocodan

aseso0oen
aosos00000
aocoocooto008
oS00000000
400006000
asoaotoane
acosotsnan
socoo00O0BD08
o000 00
1. 3. 1 0. 1. 1.0 2. 1]

asesocoen
aosos0s000
aocoocootoo08
oS00000000
ascsocenen
asoaotoane
acosotsnan
socoo00O0BD08
o000 000
1.3 101 1.0 2. 1]

eceo000600

1. 3. 1. 0. 1.1 0 2.1

asoceanons
assosotonn

acosotsnan
socoo00O0BD08
o000 000
1.3 1 0. 1. 1.0 2. 1]

® 10 99 92 18 14 &
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Examples:

Example 1:

42 +2

= (40+2)+2

= (40+2)+(2+2)
= 20+1

= 21

Example 2:

369 +3

(300 +60+9)+3

(300 + 3) + (60 +3) + (2 +3)
100+20+ 3

123

4. Use the method above. Write down the steps you use.

oy liini= PIIESISIGIE C. 48+ 4=
Confinue on an extra sheet of paper.
IS SERSi= e. 448 +4 = f. 318+3=

Confinue on an extra sheet of paper.

What you need:
— Use the 10 and 100s dice.
— Piece of paper.

<

16 16 17 18 19 20

In one minute | can ...

What to do:

— Roll a 10s dice and then the 100s dice.

— Divide th

Write down the division sum with the answer.
— Repeat doing this until your teacher says stop.

— Give your division sum to your partner to mark.

e bigger number by the smaller number.

— The winner is the person with the most correct division

sums.

21 22 23 24 28 26 2V 28 20

XXi
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L _Number sentences

How fast can you calculate the following?

4+2 = @ 1+7 = @ 7+5 = @ 6+5 = @
3+6= @ 3+2= @ 8+6= @ 9+9= @
5+4 = @ 1+9 = @ 9+4 = @ 8+7 = @
24+8= @ 24+ 4= @ 74+7= @

1. Write addition sums for the following: We have done the first example for you.
5

B P

+
gl
|
I
3

XXii
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2. What is the value of the @ in each of these?

L
a.7+2=( ) +7 b.3+9=@+3
s Pattern fun
— ~H — How fast can you get the
c. 8+4 4+\/ d. 6+5 5+&J mg@ﬁ youg

SRS NEE RS B B B
3. What is the value of the in each of these?
¥ o] [ ]
P
ol A=) 5 ol B (s
. S EEEE
c.1x8=8x\/ d.6x3=3x\/
= (0 = () x 5= 5x4 ....
4. Match column A with column B. . . . .
o i 1 11
4x5 \5x4 .. ..
3+9 2+10
3x2 1+6

L s 1 1]
6X4 Sx7
9+4 8x4

7 X5 4x6
o s 111
4x8 2x3

Colour the cards

Use different
colours to colour 6+8 7+3 2x9 6x8 3xX7
in those cards
that have the
same answer.

9x2 9+2 6+5 5+6 2+9

XXiii
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Ratlo and Rate

Rate

The chicken cost
R50 per kg.

Written
N as a
ratio

1. Answer the following questions.

a. How many peaches do you see?

b. How many bananas do you see?¢

c. What is the ratio of bananas to peaches?

d. What is the ratfio of peaches to bananas?

. What is the ratio of the peaches to all the fruite

XXiV

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



a. How many pink flowers do you count?

b. How many yellow flowers do you count?

c. How many purple flowers do you count?

d. How many white flowers do you count?

e. What is the ratio of pink flowers to yellow flowerse

f. What is the ratio of yellow flowers to purple flowers?

g. What is the ratio of pink flowers to purple flowers?

h. What is the ratio of yellow flowers to white flowerse

i. What is the ratio of white flowers to pink flowers?

continued &
XXV

16 16 17 18 199 20 21 22 23 24 286 26 2V 28 290 IV



‘.‘{x b z':;,:"

= R7b ( Ratio and Rate continued

»Y

3. Look at the questions and answer the questions below.

Cheese
R40 R60
per kg per kg

Milk Ribbon
R10 R5
per litre per metre

Write out each statement above using the rate symbol. Then work out how much wiill
double that rate cost.

a. Cheese is R40/kg Double R40 = R40 x 2 =R80

XXVi
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4. Cheese: R40/kg

a. How much will it cost me to buy 1 kg?

b. How much will it cost me to buy 2 kg?

c. How much will it cost me to buy 3 kg?

d. How much will it cost me to buy 4 kg?

e. How much will it cost me to buy half a kilogram?

5. If Simon is paid R9/hour to work at the market, how many hours must he work if he
wants to make R54?

Continue on an exfra sheet of paper.

Prices

—  Walk around a shop and find 3 items on which they write
Rand/cents per kilogram.

— Write down these examples and bring them to class.

XXVil
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—Lractions

Look at the tables and use words such as half, quarter, Three circles of cardboard
and eight. have been cut up in
different ways and the

pieces from each circle put
on a table.

Look at each table and
discuss it in a group.

What will happen on each
table if you put the pieces
back together to form a
circle?

1. Look at the coloured-in circles. Write a division sum for each.

Fraction that is Colour the same

Fraction circle reen Division sum fraction on this
g diagram
a T T T ]
1 ] - 4 = 1 1
4 4 Is green.

sE
e
@
&
RO
&
s
S

XXViii
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2. Look at this measuring tape and answer the questions.

a. What is one half of 24 m¢

13 14 15 16 17 18 19 20 21

We cansay 24 +2 =12.

10 11 12 13 14 15 16 17 18 19 20 21

b. Whatis one third of 24 m?

We can say 24 + =

2 13 14 15 16 17 18 19 20 21

We cansay 24 + =

10 11 12 13 14 15 16 17 18 19 20 21

d. What is one eighth of 24 m¢

We can say 24 +

3. Using Cut-out 4 as a guide, fill in whether each of these is <, > or =.

a. 1 1
2>4
d'l 1
2 6
9 1[ 1
7 6
o201
6 74
7 2
8 3

N[

@[ Oolh NN o=

s c. 1
8 8
1 foo1
8 5
1 L
2 8
2 4
3 5

O
1 7

See the fraction game in the next lesson.

18 16 17 18 19 20 241
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RO ( Ekaetion problems

Dy

Look at the ruler. Describe it using cm, mm and intervals. (0 [ERTEL
what is that?

ERERRRRRERRRERERERERER

cm 2 3 4 5 [ 7 8 ? 0 1

051 oOrl 0€1 0O¢1 0Ol1L 00l

06 08 0L 09 0O
|||||||||| ||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||I||||||||||

between those
small lines.

It is the
distance

i. 3litres i. 3litres i. 4litres i. 2litres i. 3,5 litres
i. 3,5 litres i. 2,5litres RS HiiES T i s i. 4 litres
iii. 2 litres ii. 2 litres ii. 3,5 litres iii. 2,5 litfres iii. 2,5 litres

2. How long is each line? Give your answer in millimeters and centimeters.

I TV T T T T[T T[T T 7]

cm 2 3 4 6 7 8 ? 0 1 12 13 14 15

051  oOvl 0l 0¢lL oLl 001l 06 08 0L 09 05 ov 0c 0e¢ ol ]
e e e e
a. Pink line mm cm
b. Purple line mm cm
c. Greenline mm cm
d. Blue line mm cm
. Red line mm cm
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3. There are eight children at my party. Make drawings to solve your questiohs. .
a. Two cakes are shared equally between eight children. What part of a cake will
each child gete

W

ose
1S3
b. Each child gets one eighth of the lollipops. How many lollipops will each child
gete
, I |.’ ? 5 9? , I |.’ ? 5 9? | 9?

c. How much juice will each child get if you share it equally between them.

Fraction fun at home

— With the help of an adulf find as many things as you can at home that are divided info equal
pieces. Name the object and say infto how many pieces it is divided.

XXXI
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R10 4 Moeney problems

Look at the pictures. Discuss what you can do with the money.

1. You and three of your friends collected all your old toys to sell to buy four sports
shirts. Each shirt costs R50.

a. Look above. This is what you sold on the first day. How much did you sell?

b. How much money do you need to buy all four shirts?

c. How many shirts can you buy with the money you made on the first day?

d. How much more do you need to sell to buy the four shirts?

XXXIi
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2. After three days you sold everything. You kept a record of what you

were selling. Now you need to calculate everything.

R15.00 We still need to sell worth of
day ’ : .
R17,00 toys to buy all the shirts. Calculate it
+R45, 00 here.
Second | sold:
We still need to sell worth of
day R25,00 : .
R35,00 toys to buy all the shirts. Calculate it
R 8 00 here.
+R22,00
Third I sold: Do we have enough money for 4 shirts?
Show it here.
day

18 16 17 18 19 20 241

My wish ...

— Write down what you really want to buy.
How much does it cost?e

— What can you do to get the money?

22 28 24 28 25 2y 28 290 U




1000

900

About how many paper clips long is the pencil?
How did you find out? About 3 cm

800

1. A paper clip is about 3 centimetres long.
Use the paper clip as a measure to make these estimates. Check your
estimates by measuring to the nearest centimetre.

Estimate Measure

700

. Length of your thumb.

Term | — Week 3

600

. Width of your maths book.

. Length of a crayon.

. Length of a pencil.

. Length of an envelope.

400
one kilometre

. Length of an eraser.

. Use your centimetre ruler. Write the length of each object.

300

200

100

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
500

0

m

XXXV
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Distance from: Metres (m) Centimetres (cm)

The merry—go-round to the ladder.

The ladder to the swing.

The swing to the seesaw.

The seesaw to the slide.

4. A fence was built around the playground. How long is the fence? Write your
answer in metres and centimetres.

10 m

10 m

How tall? How long?

How tall are you? Which is the longest?

- How tall is your mother or caregiver? - One third of a metre or one quarter
. of a metre.

— How tall is your teacher?

— How tall is your principal?

16 17 18 99 20 21 22 23 24 28 26 2/ 238 20
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R12 pY=Atea and Perimeter

The area of a shape is the number of square units needed to cover the inside shape.

Square units I

The area is 10 square units.

1. Find the area of each shape and write your answers in square units.

Term | — Week 3

2. Draw the shape described.

a. A red square with an area of 1 square unit.

b. A greenrectangle with an area of 4 square units.

c. Ayellow rectangle with 12 square units.

d. A blue rectangle with an area of 10 square units that is longer than it is wide.

XXXVi
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3. Find the area of each shaded rectangle in square units. Be sure to count
the parts you cannot see.

d.

4. A counter top is covered with four rows of square tiles.
There are 9 tiles in a row. What is the area of the counter top in tiles? Make a
drawing to show your answer.

5. A counter top is covered with three rows of square tiles.
There are 8 tiles in each of the first two rows and 7 tiles in the third row. What is the
area of the counter top in tiles? Make a drawing to show your answer.

Tiling fun

— You are using these tiles
to tile the floor.

- How many tiles do you
need fo tile the floor on
the right?

XXXVii
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R13 ( Capacity
y 44

Work in groups. Get some large containers. Estimate which of them would hold
about one litre

e

1. Fill in the correct answer.

An orange
juice carton
a. A cup holds the orange juice carton. lho|c|3 1 litre. |
more than, less than, the same as
b. The orange juice carton holds the cup.
more than, less than, the same as
c. The jug holds the orange juice carton. LhiISdCUp
more than, less than, the same as o0as
250 ml. ®
d. The jug holds the cup.
more than, less than, the same as This jug
holds
e. The orange juice carton holds the jug. 500 ml.
more than, less than, the same as )

2. Estimate whether the objects hold more than, less than or about the same as 1 litre.

XXXViii
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3. How many millliters are in:

*  One half a litre, * One quarter of a litre

e One fifth of a litre

4. Say how much each measuring jug holds?

1 Iitvc@g—p\\ 1 Iitl'c@ B 7

900 mi ———900ml

800 mb—+1— 800 m——1——

— 1 700ml

® ) Jug D

——— 900 ml
800 mb—7—

I.  Which jug holds the most?

ii. Which jug holds the least?

ii. How much more does jug B have than jug E?

iv. How much more does jug A have than jug B?

v. Which jug holds less than 500 ml?

Find five things that hold less than | litre and five things that hold more than 1 litre at your home.

XXXIX
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R14 ‘ 2=DB Shapes and 3-D Objects

.,,_

Name these 3-dimensional objects. Where in your environment will you find them?

1. Say whether each 3-D object is a pyramid or a prism.

- - d' A\
e —

] | N\

| - &

i~ &

2. Name all the 2-D shapes. How many lines of symmetry does each shape

from 2a to 2e have? Draw the line on the shape and write the number
next to it.

a. 1 b. c
Triangle

: <:> e. |

© 9 2 8 4 8 B v 8 © 10 99 92 18 94 918
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& '-AJ'_;' & ’ | 8_ ff,ﬂ-"_""'h..\ .__,--"
| Al 9 /
' |
1

3. Choose the correct shapes to go with the correct prism/pyramid.

\ B &

a. Triangular b. Rectangular c. Cube d. Pentagonal
prism prism prism
i.
e &
e. gﬁsﬁgonal f. TT?it;?lgi?az?n/ g. Square
pyramid BRI C)

Vi. Vii. Viii. [ iX.

Tessellate?

Can these shapes tessellate on their own?

18 18 17 18 19 20 21 22 28 24 28 26 2V 26 290



Grams and kilograms

are metric units used
to measure how

’ heavy objects are.

A paper clip weighs
about 1g.

v

A book weighs about 1 kg.

b

Use a benchmark to estimate the mass of these objects in grams or kilograms.
Check each object on a scale. -

1. Will you use grams or kilograms to weigh the following:

a. b. e C.

2. Use the object on the left to estimate whether the object is heavier or
lighter than kilogram or gram.

L=

1 kilogram

a. Paper bag b. Shoes c. Aloaf of bread d. Pencils

V20"
o

e. Scissors

Calculator

xlii
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3. Look at the scales and answer the questions.

a. Which objects weigh less than 700 g2

b. Which objects weigh between 500 g and 1 kg?

c. Which is the heaviest object?

d. What is the total mass of objects A and D?

e. What is the total mass of objects B and C?

B C

4. Look at the two containers.

Are they the same size?

The winning bag

— Each learner should gather assorted objects from around the
classroom and place them in his or her bag. Fill each bag until it
is estimated that it weighs about 1 kilogram.

— Select one class member to weigh each bag. The winner is the
learner whose bag weighs closest to 1 kilogram.

— You canrepeat the activity by filing the bags with different
objects.

xliii
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S/

Data Handling

The picture shows us what kind of lunches children would like in a grade 5 class.

1. Sort the types of lunch liked by these grade 5 learners by completing the table.

Type of lunch Tally Frequency

Hamburger

Hotdog

Sandwich

2. Use the information in the table above to draw a pictograph and bar graph.

Pictograph Bar graph
20

18 —

16

14 —

12

10

Number of children

© 9 2 8 4 8 B v 8 ©® 10 99 12 18



3. Answer the following questions from your bar graph:

a. How many children like hamburgers in this grade 5 class?

b. How many children like hotdogs in this grade 5 class?

c. How many children like sandwiches in this grade 5 class?

d. Which is the most popular lunch in this grade 5 class?

e. Which is the least popular lunch in this grade 5 class?

4. Write 3 headings: Certain to happen, Certain not to happen, Uncertain. Classify
each of the following under one of those headings:

— Snow in our town or place tomorrow.

— Hall in our town or place tomorrow.

— Sneeze with open eyes.

— Iwillbe a day older this time fomorrow.

- A woman will be a president of South Africa one day.

— Our soccer team will win the league this year.

— Somewhere in the world someone is being born right now.
— Add one event of your own to each of the lists.

5. Your mother wants to sell lunches for Grade 5 at the tuck shop. What advice wiill
you give her? Write the answer in your answer book or on a seperate piece of

paper.

Who is lucky?

— Play in pairs.

Use a coin again. Start the game by asking: “Who is lucky?”

The first player will foss the coin ten times. Before tossing it he or

she must guess on which side the coin will land the most often. If

the player is correct the player will get 1 point.

— The second player does the same.

— In pairs do this ten times. The player with the highest score is the
winner.

v
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WORKSHEETS
1to 64

T
D
—
O
Z
L]

1




How many cubes are there in total? Match the place value cards with the base ten

blocks.
O | ..

1. Count the cubes.

a.
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2. How many cubes are there in total?

D l .
=l =10

= =100
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®

3. Add all the place value cards.

a.

4. Calculate the following:

d.

e.

1000+ 100+ 100+100+10+10 +1+1=

SO oF (R R () A s €6 e 66 e e 8 S S R | R

1000+100+1000+100+10+100+1+1=

1000+1+100+10+1000+10+100+100+1=

1L0) < 310) < 3UB10) - ALEI0) <= AL (0(0)0) = 3T = 4L <= alEI0) < AL Q) =

How quick are you?

What you need: What to do:
Cut-out 1. - Play in pairs.

— Cut out the cards from the back of your books.

— Place them face down on your desk.

— You choose five cards and your partner chooses five.

— See who can give the total the quickest.

— Add 1 000 to your answer.

— Check your partner’s answer.

— Do the same with 6/7/8/9/10 cards. Remember to add a 1 000.
— The person with the most correct answers is the winner.




Numbers 0 to [0 000

What number will these cards make?

‘ ‘ 5628

In words \
itis Five thousand six hundred
—. and twenty-eight.

8

Use Cut—out 2 to show five different numbers.

1. Complete the following:

a. 8000+400+30+2=

b. 3000+800+50+1=

Cc. 1000+200+80+7=

d. 4000+ 900 + 3 =

e. 7000+ 7= @
2. Write the number in the correct column:

a. | 3487 3 4 8 7
b. (4204
c. |6003
d. [8710
e. |6080

3. You need some coloured pencils to complete this question. Complete the following
using the first question to guide you.
a. 8 183 = 8 thousands + 1 hundred + 8 tens +

b. 6325 =

C. 5555 =

d. 2806 =

e. 6005=
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4. Complete the table below:

Expanded notation Words
a. |6578
b. [3254
c. |5504
d. |9540
e. (8003

5. What is the value of the underlined digit?

6.

a. 6214

b. 5891

c. 5004

d. 1240

e. 8040

What will you do to change the number?

a. 4 824 —400 4424
b. 3154 154
C. 2 054 2 004
d. 3879 3070
e. 5571 5000

Find the number.

What to do:

— Bring a newspaper to class. - A newspaper
— Find five 4-digit numbers. Write them down.
— Share with the class what each number means.

What you need:
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More Aumbers 0 to 10 000

Look at these Egyptian numbers. Make any 5-digit number using the Egyptian
numbers.

Units I 0 M

tens n hundreds e thousands I

1. Complete the table below:

Egyptian number Number Expanded notation

e|lejeje\m njn|l 1431 1000+400+30+1

=2
o |
o
o |
e |

D ||| |BE| | pe—wn
S |[pe—an||be—n

!
]

@

@

@
P
P

TERARADEE

2. Arrange the numbers from the smallest to the biggest.
GO NERISUREIEZ20R020BOR20 | |
b. 3210, 3201,3012,3021, 3011 | |
C. 7776,7767,7677,7676, 7 656 | |
o), 00N, B OFeU), Gheelekss, () 6e1eto) €2 OOO| |
e. 3555, 5335, 5533, 5535, 3535 | |

Fill in < or >.

greater than

]
5333 ; 6 222 >
2002|2220

]

© Q00 TP W
w
[EEN
o
N

»
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4. What is the value of the 7 in all the numbers?

a2l |  po7se2l | csarl |
g7siol | e L

5. Complete the following: 3 6 2 9

a. Use each digit once, make the smallest 4-digit number: |

b. Use each digit once, make the largest 4-digit number: |

c. You can use a digit twice, make the smallest 4-digit number: |

d. You can use a digit twice, make the largest 4-digit number: |

6. Complete the following:

You tossed some stones on a game board. This
was your result. If you add the numbers, what is
the total?

Who can get the largest number?

What you need:
— The game board on the right.
— Small stones.

What to do:

— Toss your stone on the board.

Write down the number it landed on.
Do this ten times.

Add the numbers.

The winner in a group is the person with
the highest score.
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Number sentences

Replace with a number

4+6= 5+5= B2 = 3+7=
23+7= 24 +6 = 22 +8= 25+5=
430 + 70 = 440 + 60 = 420 x 880 = 450 + 50 =
430 + 270 = 440 + 260 = 420 + 280 = 450 + 250 =

1. Calculate the following.

Example: Commutative property of addition.

15 +5= | 52 or 37+15= 52

59 +368 = | 427 or 368 + 59 = 427

87 +62= | 149 or 62 + 87 = 149

iR S =R Sl

b. +8= +9

Cc.99+89=89 +

d. +75= + 76

e. 375+ 283 =283+

f. 389+ 742 =
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Example: Associative property of addition.

5+4)+6=| 15 is the same as 5 + (4 + 6) =

(35+28)+17=| 80 is the same as 35 + (28 + 17) =

15

80

99+ (7+45)=| 151 | isthesame as (99 +7) + 45 =| 151

2. Calculate the following.

el (B E)) B w (7 B)
C.9+(1+4)=( + ) +4
(=), (Ghzr L) 2 AL S 02 e w ALiL)

Solve the problems.

A man buys cell phones for all his stores. He buys 6 789 black phones, 1 567 brown cell phones and
4 532 red cell phones. How many cell phones did he buy altogether?

o ((Ele T e = e e il 26
LB FE) i = T+ ({8 = )
f.20 +(3+8) = ( i )

a. What is the question?

b. What are the numbers?2

c. What basic operation/s (+, -, x, ) will you use?

d. Write down the number sentence?

e. Do your calculation.

11
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S

Mere number sentences

Write number sentences using +, - and =. Each number sentence should
include a 1 or a 0. What do you notice when you calculate it?

‘ o J(= )L+ (I )

()L I ()

) (L

) (I
1. Complete the following.
a.10=5+ , 10-5= Rl O= Tt i — =3
c 10=44% , 10-4= (o), 10 S5 0= =4
e.10=2+ , 10-2= f. 10= 9+ , 10 - =1
2. Complete the following. ®
a. 100 =50 + , 100-50= b. 100 =70 + , 100 - = 30
Cc.100 =40 + , 100-40= d. 100 =60 + , 100 - = 40
e. 100 = 20 + , 100-20= f. 100=90 + , 100 - = 10
3. Complete the following.
a. 1000 =500 + , 1000-500= b. 1000 = 700 + , 1000 - = 300
c. 1 000 = 400 + LB d. 1 000 = 600 + , 1000 - = 400
e. 1000 =200 + , 1000 -200= f. 1000 =900 + , 1000 - = 100
4. Complete the following.
a. 100 =57 + , 100-57 = OOt 20 , 100 - = 28
c.100=43 + , 100-43= d. 100 =69 + , 100 - = 31

.100 =25+ , 100-25= . 100 =91 +

© 9 2 8 4 8 B v 8 ©® 90 99 912
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5. What pattern did you notice?

6. Say if the following is true or false.

a.6+5=5+6 b.9+6=6-9 c.12-4=4-12

d.15-9=9+15 CROIA == f.20-10=10-20

7. Solve the problem.

The price for a container of wheat is R8 231. Since some of the wheat is spoiled, the
price is decreased by R3 789. What price does a shop owner pay for the container of
wheat? (You will need some extra paper to do this activity.)

a. What is the question?

b. What are the numbers2

c. What basic operation (+, -, x, +) will you use?¢

d. Write down the number sentence?

e. Do your calculation.

Here is one combination that will give you 20. How many more combinations can you come up with?

13+17=
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o i
s 6a ' Addition up to 4-digit numbers

What is the difference between the numbers in each of these rows?

100 200 300 400 500 600 700 800 900 1 000

101 201 301 401 501 601 701 801 901 1001

1. What number comes next?

a. 30, 40, 50,

b. 600, 700, 800,

C. 2545, 3545, 4 545,

d. 2605, 2 705, 2 805,

e. 5484, 6484, 7 484,

i AL Gk Al gl L el

2. Complete the table by adding to the given number in the first column.

3548
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3. Fill in the missing number:

a. 8+ =10

b. 15+ =20

c. 80 + =100

d 72+ =100

e. 150 + =200

f. 332+ =350

O], 525 > =400

s 4L 7SI =2 000

18] 2200) o — 2500
® j. 5440 + =6 000

4. Complete the table by filling in the missing numbers.

Complete up to the next | Complete up to the next | Complete up to the next
10. 100. 1 000.

a. 1457 | 574 3 = 460 457 + =500

15
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6b Addition up to 4-digit numbers continued

\4

Examples: Example 2:
Example 1: 5> 6 3 7
5 637+ 2 358 LA i 85 e
= 5000+2000+600+300+30+50+7+8 8 0 (3é+50;
i 7 000 + 900 + 80 + 15 9 0 0 (600 + 300)
= 7000 +900+90+5 7 9 9 5
= 7995
5. Use both methods above to calculate the following.
a. 3268+1211= b. 5455 + 3540 =

&
S
g

Continue on an extra sheet of paper.

C. 4765+3219= d. 7214+1397=

Continue on an extra sheet of paper.

EGIYSASREEJi= f. 8647 + 768 =

Continue on an extra sheet of paper.
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6. Of all the methods of addition which you’ve learnt so
far, which one do you like the most and why? Write an example of
your favourite method here.

Continue on an extra sheet of paper.

What is the size of your number?

What you need: What to do:
— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice made — Roll the green 10s dice.
before. - Add the number landed on, to the first number on
— Piece of paper. the blue card. Write your addition sum on a piece of
paper.
— Do the same with the 2nd to the 5th number.
— Repeat the activity with the 100 s and 1 000s dice.
— Learners check each others” addition sums.
— The winner is the person with the most correct answers.
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How fast can you answer these?

Add 2 000 + 1 000 + 300 + 50 + 8 +2.

What is the sum of 5 000 and 2 000?

How much is 6 000 and 300 altogether?
What three numbers have a total of 5007?
Add 37 and 12.

What is the sum of 200 and 362

How much is 95 and 25 altogether?
Which three numbers have a total of 1007?

How did the
blue words

help you? |

What word
will help you
to choose the
operation?

1. Solve the following problems. The pictures may guide you. Also use the blue
word.
a. Shop A sells 570 cans of cold drink. Shop B sells 320 cans of cold drink. How
many cans of cold drink do both shops sell altogether.

Shop A

51010 = - C{01 01 ATAQ .

© 9 2 8 4 8 B v

Try to form
a picture in
your mind.
These are the
number of

cans.
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b. My uncle, a truck driver, travelled 1 475 km in early January.
He then fravelled 276 km more. How far did he fravel in January?¢

i. What picture do you see when you think about this problem@e Draw it.

I

i. What operation should you use?

iii. Solve the problem. Write it down in your writing book.

Confinue on an extra sheet of paper.

c. Jabu collects 2 389 bottle caps. Sindi collects 3 983 bottle caps. How
many bottle caps did they collect altogether?

Continue on an exira sheet of paper.

continued @
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2. Look at the pictures below and write an interesting addition word sum.

20
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3. Write an appropriate and interesting addition sum for: 6 594 and 3 485.

Continue on an extra sheet of paper.

Story sums

Write three of your own maths stories, rhymes or poems. Remember they should include numbers.




What is the difference between the numbers?

10 20 30 40 50 60 70 80 90 100

3 1003 | 2003 | 3003 | 4003 | 5003 | 6003 | 7003 | 8003 | 92003

1. What number comes next?

a. 80, 70, 60,

b. 200, 800, 700,

c. 787,687,587,

d. 2365, 2355, 2 345,

e. 9451,8 451, 7 451,

i 7 548, © 55, B 548,

2. Complete the table by subtracting from the given number:

Number Subtract 1 Subtract 10 Subtract 100 Subtract 1 000

5132

1874

8412

4 657

3528

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



3. Fill in the missing number:

a. 3—|;|=0

b. 15-—J=10

C. 37—|;|=30

d. 51-— =50

e. 116 -—— =100

f. 150 -— =120

g. 568 - — =500

h. 984 - — =800

i 1952-L— 1= 1500
% i. 9407 - ——=5000

4. Complete the table by filling in the missing numbers.

Complete up to the
previous 10

a. |48 48—|;:40
b. |325 325—Q= 320 325—|;= 300
c. |5583 553—Q= 550 553—|;= 500
d. | 1689 1689—|;|=168O 1689—|;=1600 1689—|;=1000
e. 6584 6584—|;|= 6584—|;: 6584—|;:

Complete up to the
previous 100.

Complete up to the
previous 1 000.

continued &
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8b Subtraction from 4-digit numbers

' eontinued

Examples: Example 2:

Example 1: 4 3 2 8

4328 -3 145 - 3 1 4 g .
= (4000 -3 000) + (300 -100) + (20— 40) + (8 - 5) - (12(§—_40;
i (4 000 — 3 000) + (200 — 100) + (120 — 40) + (8 — 5) 100 (200 100)
= 1000+ 100+ 80+ 3 . 1 0 00 (4000-3000)
= 1183 1 1 8 3

5. Use both methods to solve the problem.
a. 3812-2708 b. 5684-2419

Confinue on an exfra sheet of paper.

c. 8148-2077 d. 2632-1284 @

Confinue on an exfra sheet of paper.

. 93l =848 f. 7210-4144

Confinue on an exfra sheet of paper.

g. What method do you prefere Why?

Continue on an exira sheet of paper.

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16
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Examples: Example 2:

Example 1: 7 4 2 4

7 4241888 -1 &9 2 s
= (7000 1000) + (400 — 800) + (20— 80) + (4 —8) .o (11(0—_80;
i(7000—1000)+(400—800)+(IO—80)+(14—8) 500 (1300-80)
= (7000-1000) + (300-800) + (110-80) + (14-8) N 5 0 00 (6000-1000)
= (6000 —1000) + (1 300 -800) + (110—-80) + (14— 8) 5 5 3 6

= 5000+ 500 + 30 + 6

= 5536
6. Use both methods to solve the problem.

a. 3767 —-2459 b. 8715-4108

Confinue on an extra sheet of paper.

Cc. 6449 -5 65856 d. 9564 -6295
@ Continue on an extra sheet of paper. P
e. 7359-2399 f. 5222 -4 653

Confinue on an extra sheet of paper.

g. What method do you prefere Why?

Continue on an extra sheet of paper.

What is the size of your number?

What you need: What to do:

— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice you made — Roll the 10s dice.
before. — Subtract the number landed on from the first number

on the blue card. Write your subfraction sum on a
piece of paper.

Do the same with the 2nd to the 5th number.

Repeat the activity with the 100s and 1 000s dice.
Learners check each others’ subtraction sums.

The winner is the person with the most correct answers.

— Piece of paper.

25
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-Subtraction problems

How fast can you answer these?

Subtract 40 000 from 80 000.

What is the difference between 7 800 and 5 4002
Minus 20 000 and 55.

Decrease 100 000 by 10 000.

Subtract 450 from 19 000.

Reduce 50 000 by 1 000.

Take 15 000 from 45 000.

Take away 25 000 from 100 000.

1. Solve the following problems. The pictures may guide you. Also look at the
blue word.

a. Veronica has 780 postage stamps in her collection.
Lindiwe has 410 fewer stamps. How many stamps does Lindiwe have?

ASBARNAARAE AABIARAARAE ASBEARAABAE ASBARAAEA

CEsEsDEsEs DEsEalasBEs DEsEalEsEas Ela!nﬁlm L

wERRCCEEE: wiEBRCCERR: wiEBRCCIRR: ©

&Il!l&il!l &Il!l&il!l AAEIBSASRAR

DExEalasEs DExEplamEs DEsEslaxEs

cHE=CcEEr: CcHE2CcEER:. CcEHExCcEERC

AABEIRAARAE ASEIRAARAE AABIRASRAR

DEsEalaslEs DasBalasEs DasBalasEs

cHE=CuBEr: cBHE=CeBEr: cBEEECcBE=: w

ASEIBASEAE AABIARASEANE ASEABASEAR Il!lﬂll!l

ASBARAAED ASBARAAERD ASBARAAEAN ASBARAABAR

CEsEsDEsYs DEsEalEsays DErEslDEs)s CExEslExBEs

; ; ;HRRCoiER: UEBRCCUEERC
&Il!l&il!l
DExEsla=Es
CHE= CCuE=C

ARAAEAR

=1 p.r-3 3~1 foro% mm
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b. James is selling stamps. He sold 4 387 on Monday. By the end of
Tuesday he had sold 8 000 stamps. How many stamps did he sell on Tuesday?

i. What picture do you see when you think about this problem? Draw it.

Confinue on an exira sheet of paper.

ii. What operation should you use?

Continue on an extfra sheet of paper.

ii. Solve the problem. Write it down in your workbook.

Continue on an extra sheet of paper.

continued &
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9% : Subtraction Problems continued

\4

c. My aunt makes jewellery. She buys 9 525 beads. She uses 4 250 to make some
jewellery. How many beads does she have lefte

Continue on an extfra sheet of paper.

2. Look at the pictures below of soccer balls and tennis balls and write an interesting
subtraction word sum. @

itwuiutwiﬂ itwuiutwiih?

vecvereTOE, vecveeeeve,
u'wv'a'nvﬁa a cecceEEETE
uuntnnuwn:1 _ veeveroewe )
veccevEEEe veTeeveEee )
vosveveree. veseevevee.
rv-:u:.uu; rv-:u'tuu¢r~t
CEEEETEEEE, CCEEEOCEEE
Yoo rw vevvevevee vevvevevwe
¢eEvEETETE ¢sevEETETE

Contfinue on an exira sheet of paper.

® B U ©® 10 91 92 18 14



3. Write an appropriate and interesting word sum for: 45 879 and 38 238.

Solve it.

Continue on an extra sheet of paper.

000000 AMAA1

b

At the party — Make up your own story

g%&

‘eSS

28 26 2y 25 20 I




10a

Addition and Subtraction problems ug

LA 10'5-digit numbers

How fast can you answer these?

Add 6 000 and 800.
Subtract 600 from 4 000.
9 000 plus 330 'is ...

The sum of 2500 and 5500 s ...
Take 3 000 from 7 000.
Decrease 5 500 by 2 300.
Increase 1500 by 2 800.
1250 and 4 250 are ...

1. Complete the table below.

Add 300

Subtract 600

Add 4 000 Subtract 3 000

3 500

6 200

5820

4 650

5999

a. What is the opposite of 4+ ?

b. What is the opposite of — ?

2. Answer the following questions:

© 191 2 8 4 8 G ¥
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3. Calculate the following.
Q. 7544+ 1378 = b. 4245+ 1996 =

Confinue on an extra sheet of paper.

C. 8678-3482= d. 3124-1657=

Continue on an exira sheet of paper.

4. Check your answers for each of the above calculations, using the opposite
operation.

Confinue on an extra sheet of paper.
continued @
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100

y 44

5. Solve the following problems:

a. Suzy and her brothers were counting animals and birds at the zoo. Suzy

counted 234 animals and her brother Thabo counted 1 004 birds. Their
younger brother Andile counted 538 animals.

i. How many animals and birds were counted in all?

ii. The guide told them that they could
expect to see 2 000 animals and birds.
How many animals and birds did they
not see?

b. A book store had 1 250 books. They
bought another 1 200 books. Then they
had a sale and sold 1625 books.

i. How many books were on the shelves
when the sale started?

Confinue on an extra sheet of paper.

© 491 2 38 4 8 G ¥ 8 © 90 91 92 18 14



i. How many books were left on the shelves after the sale?2

Confinue on an exifra sheet of paper.

iii. If the book store sells another 500 books, how many books will be lefte

Continue on an extra sheet of paper.

Coloured numbers

16 16 17 18 199 20 21

What to do:
— Play in pairs.

— The first player will say: “Add red
numbers”. Then the second player can
take any two red numbers and add them.
If the player is correct, he or she will get
one point.

— The second player will say: “Subtract
yellow numbers”. Then the first player
makes a subtraction sum with any two
yellow numbers.

— Carry on playing. The first person with a
score of 10 is the winner.

22 23 24 28 2B 2y 28 29 IV
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11 ‘ L RPatterns and tables
AL
How fast can you fill in the missing numbers?

213|456 7|8]9]10
2134|5678 10
41 6|8 12141161820
6
8

[N

9 [12]15(18| 21|24 27|30
1216202428 (323640
15 25 (30| 35|40 | 45|50
12 1824|3036 | 42 60
14(21|28|35|42|49 (566370
16 40| 48 | 56 | 64 | 72| 80
18 | 27 | 36| 45 | 54 90 ®
3040 (50| 60708090 |100

V| oMW IN|F]| X
NN |jovn(fOT MW IN|PF
[
o

[N
o
|
o
N
(@

1. Use the table below to find the answers.

x |12 114 |16 18| 20 ol Loz 8=
12 | 144|168 | 192 | 216 | 240 b.18 18 =
14 | 168 | 196 | 224 | 252 | 280
c.16x12=
16 | 192 | 224 | 256 | 288 | 320
18 | 216 | 252 | 288 | 324 | 360 S
e.l4x16=

34
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2. Complete the tables below as in the example.

Example:
Using tables is a useful way to record patterns.
Input

Rue| x6 | 6 | 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 40

Output
a.
b.
®

C.
d.

x 5 20 40
e.

x 10

Input and output values

a. My ruleis x 8. My input values are 1 to 10. What will the 15th output value be?

b. My ruleis x 10. My input values are 11 to 20. What will the 20th output value be?

35
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Patterns and flow diagrams

Explain what happened
to the paint at the paint
shop?

1. Complete the flow diagrams.

Example 1: Example 2:
Input Output Input Output
1 7 1 5
Rule
3 ’ 21 3 [N, rle 7|13
5 35 5 > x4 | +1 p»
7 49 // \\: 25
9 63 8
11 45 ®
a b.
L ]
3
| +6 [ 5
7
?
d.
2]
AN A
x 8 —+3|> 59
6 i
10
27

36
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147

2. Create your own flow diagrams.

a. b.
Input

O
- - -

I % N B
O O H
) ) ) )

Inputs, rules and outputs

a. My ruleis x5+ 2. My input values are 2, 3, 4, 5 and 6. What are my output values?

b. Myruleis x 4 x 5. My input values are 6, 7, 8, 9, 10 and 11. What are my output values?

16 16 17 18 199 20 21 22 23 24 286 26 2V 28 290 IV



lNumber Patterns

Quick recall: How fast can you answer the following?

1+4= 1x5= 1x4= 4+5= 4x8 = 3+4=
A4X7T= 4+6= 1+5= 6+5= 4+9= 4x9=
3x5= 4x5= 3x4= 5x5= 8+5= 4x4=
4+8= 6x5= 9x5= 2+4= 4x6= 4+7=
7+5= 4+4= 3+5= 2x5= 2x4= 2+5=

1. Extend the following patterns.

a. 25, 30, 35,

.25, 50, 75,

c. 110, 120, 130,

d. 99, 94, 89,

e. 177,167,157,

f. 31, 56, 81,

g. 747,757,767,

. 331, 362, 373,

i. 2100, 2200, 2 300,

j. 10000, 9 993, ? 98¢,

2. Complete the flow diagram.

Input Rule Output Input Rule Output Input Rule Output

® 10 99 92 18 14 &
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°
C
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a.21, 26, 31

.26, 51,76

S5 11729, 1810, 11743
d.1011,1021, 1031

e 2061230662107

. Patterns are shown here. Explain each one in words.

. Identify the rule in each case.

2

3

4

6

7

3

4

6

2

8

6

8

10

12

14

8,

O

12

15

18

21,

24

2
@
6
8

12

20

24

28

32

10

15

20

30

35

40

12

18

30

42

48

14

23

28

35

47

56

CD\IO\U'I-POOI\)@H

8

24

32

40

48

56

NN |0 N|o~v([OT B WIDN |-

18

27

36

45

54

63

12

Look at the patterns on the board. Describe each one in your own words.

11

12

13

21

22

23

31

32

33

41

)

43

51

52

53

61

62

63

71

72

73

81

82

83

Patterns everywhere

O

/\

9394195

97

24 28 28 2y 23 290 &V
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E\ore number patterns

1

2

3

4

5

6

7

8

9

10

11|12 (13 |14|15]16|17 18|19 |20
2122|23|24|25|26|27|28|29 |30
31|32|33|34|35|36|37|38]|39 |40
41| 42| 43| 44 | 45| 46| 47 | 48 | 49 | 50
51|52 |53|54|55|56|57|58]|59 |60
61 (62|63 64|65|66|67]|68|69|70
71|72 |73 |74|75|76|77|78|79 |80
81|82|83|84|85|86|87|88|89|9
91192]93|94|95|96|97|98|99|100

Q. 12, 24, 36, 48, ...

What is a pattern? Look at the examples to guide you.

12, 24, 36, 28, ...

205

C. 2,4,12,14,22,24, ...

2. Complete the pattern on the circle. We have started it for you.

a. Describe the pattern.

o/g NI

(L)

1. Which of these are patterns? Answer with reference to what you said a pattern is.

b. 9,3, 11,

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16




3. Make two of your own patterns. They should be similar to the
pattern in question 2.

=

c. Describe the patterns above.

4. What is the next number?

a. 2,3,5,8, b. 100, 81, 64,

c. 1,4,9,16, 25, d. 3,9, 81,

Pattern fun ...

What will the next five rows in this pattern be?2 1

1+2+1
14+2+3+2+1
1+2+3+4+3+2+1
1+2+3+4+5+4+3+2+1
142+3+4+5+6+5+4+3+2+1

1

16 17 18 99 20 21 22 23 24 28 26 2/ 238 20



Give the total of the numbers in each shape. Use multiplication.

<
0@
&

S
o) o
>

&

Q

o
QO
N 7

9 7

7

1. How fast can you complete this grid?

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16




2. Describe the pattern shaded in yellow on the previous page.

Continue on an extra sheet of paper.

3. Complete the flow diagrams.

Input Rule Output Input Rule Output Input  Rule Output

12



N

‘ 150 ' Multiplication: l-digit by 2-digits continued

d. Draw similar flow diagrams multiplying by 8 and one multiplying by 6.

Continue on an extra sheet of paper.

4. The example below will help you to complete the other tables.

Multiples of 3

3x1 3x2 3x3 3x4 3x5 3X6

vV 9 9 9 9 9

The multiples of 3 are 3, 6, 9, 12, 15, 18,

© 19 2 38 4 8 6 7 8 © 90 11 12 18
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Multiples of 4

4x1 4x2 4x3

vV 9 9 9 9 9

The multiples of 4 are 4, 8, 12,

b.
D D
@ The multiples of 5 are

Competition time

What you need:

Check your answers:

- Coloured pencils. @ @ - You should have:
What to do: — 12 red circles

— Mark in the multiples as fast as you can: @ @ @ — 6 blue circles

— Multlp|e5 Of 5 in red. = n @ @ — 6 green C|rc|es

— Multiples of 6 in blue. — 13 purple circles

— Multiples of 10 in green. .
— 4yellow circles
— Multiples of 3 in purple.

— Multiples of 12 in

16 16 17 18 199 20 21 22 23 24 286 26 2V 28 290 IV



16a pY-Multiplication: 2-digits by L-digit, 2-digjits s
' pDyr2-digits

Give the total of the numbers in each shape. Use multiplication.

rectangle

1. Find the multiples.
a.

Multiples of 10

10x 1 10x 2 10x 3 10x 4 10x5 10x 6
b A s IR i,
10 20 30 40 50 60

The multiples of 10 are

.
vV 9 9 9 v @9

The multiples of 100 are

.
L AINES A S & o

The multiples of 1000 are

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



2. Use both methods to calculate the multiplication sums. Write the steps.

Examples:

Example 1:
43 x 7

= (40+3)x7
(40x7)+(3x7)

280 + 21
301

ANIEHES=

Example 2:

2
3

(3x7)
(40x7)

oo N
Rlo k|~ w

b. 24x4 =

Continue on an extra sheet of paper.

c.30x6 =

d. 54x7 =

Continue on an extra sheet of paper.

e.79x9 =

Continue on an extra sheet of paper.

18 16 17 98 99 20 21




16b Multiplication: 2-digits by ! digit, 2-digits —
' by 2-digit8 continued

3. Use both methods to calculate the multiplication sums. Write the steps down.

Examples:
Example 1: Example 2:
23x14 = 2 3
(20 + 3) x (10 + 4) X 1 4
=(20x10) + (3x10) + (20x4) + (3x 4) 12 (3x4)
= 200+ 30+80+12 80 (20 x 4)
= 200 + 100 +10 + 10 + 2 30 (3x10)
= 300+20+2 + 200 (20 x 10)
= 322 322
a.l0x 13 = b. 15x15= c. 18x21=
Continue on an extra sheet of paper. @
d. 23x24 = e. 36 x28= f. 45 x29 =
Continue on an extra sheet of paper.
9. 47 x37 = h. 54 x 69 =

Continue on an extra sheet of paper.

® 10 99 92 18



4. Solve the following:

My teacher bought 15 boxes of coloured pencils for R21 each and 15 colouring

books for R18 each. How much did she pay in total?

What
picture do

see?

>

Continue on an extra sheet of paper.

-
>
o
>
O
®
17
®
o
3
o
T

How many dots do you count?

29 ®
L L L
oo
e
L L R
299
L L L
eaad
o®®
aoae

L L X
*90e
L L L
290
e
L L L
L 1 X
L L X
L L L
o099

*SO
*ee
0@
eee
eee
e
*9e
eece
eed
aee

3 20 &

26027082
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Multiplication: 2-digits by 2-digits and
' 3=digits by 2-digits

Give the total of the numbers in each shape. You should make use of multiplication.

hexagon
500 =0
500 500

parallelogram

500 500 50
500  cg0

500

1. Complete the table below.

Number x 10 x 20 x 30 X 40 X 50 X 60 X 70 X 80 X 90

10

15

20

25

50

2. These are multiples of (extend the pattern).

a. 30: 300, 330, 360, 390,

b. 25: 125, 150, 175, 200,

c. 50: 350, 400, 450, 500,

d. 100: 1000, 1 100, 1 200, 1 300,

. 150: 1500, 1 650, 1 800, 1 950,
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3. Use both methods to solve the sums.

Examples:

Example 1:
19 x 23

= 437

2= b.14x21 =

(10 +9) x (20 + 3) X
(10 x20) + (9x20) + (10x3) + (9x3)
200 + 180 + 30 + 27

200 +100+80+30+20+7

= 300+130+7

300+ 100+30+7

= 400+30+7

Example 2:

(9x3)
(10 x 3)
(9 x 20)

(10 x 20)

WO 00 W NN -
~NIO O O NlWw ©

2
AN -

Continue on an extra sheet of paper.

c.17x24 = d. 19x 27 =

Continue on an extra sheet of paper.

e.23x38=

Continue on an extra sheet of paper.

16 16 17

continued &
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17b Multiplication: 2-digits by 2-digits and
' 3=digits by 2-digits,continies

4. Use the method below to solve the multiplication sums.

Examples:

Example 1:

45 x 62

= (40 +5) x (60 + 2)

(40x 60) + (5x60) + (40x2) + (5x2)
2400 + 300 + 80 + 10

2 000 + 400 + 300 + 80 + 10

2 000 + 700 + 90

2790
a.28x43 = b.39x48 =
Continue on an extra sheet of paper.
C.46 x 57 = d. 67x72=
Continue on an extra sheet of paper.
e.84x93=
Continue on an extra sheet of paper.

© 19 2 38 4 8 6 7 8 © 90 11 12 18



5. Solve the problem.
a.They say an apple a day keeps the doctor away. | have had one apple per day
for the last 18 months. Approximately how many apples did | eat?

Continue on an extra sheet of paper.

How fast are you?

What to do:

— The aimis to see
how fast you can fill
in the answers in the
white rectangles.

—  Multiply each
number on the
circle by the same
colour rectangles to
get your answer.
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Grouping and sharing problems

Thinking in groups:
We have 18 apples.
Can you move 1 apple to make 3 equal groups?

. Pe® @@ eeee
e eee ee@

1. How many objects do you need to move to make 3 equal groups? Complete the
following using the example given.

a. 7+8+9=24 o k2 p il el =
i. Addition sum: i. Addition sum:
8+8+8=24
ii. Multiplication sum:
8x3=24 ii. Mulfiplication sum:
8] = % 1
S. S I8l () = d. 2000 + 3000 + 4 000 =

L /Aekelii@n Sng _

ii. Multiplication sum: _

i. Addition sum:

ii. Multiplication sum:
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2. What can you do to each group of numbers to make them equal? Write

down three sums to show what you did.

I. 3,4,

5

a.

3+1=4

b.

4+0=4

vii. 80, 90, 100

ii. 20, 30, 40

a.

b.

40, 50, 60

700, 800, 900

3. Break this block into 3 equal parts.

L INeWw il i @l @lelelilen: Sk

ii. Now write a multiplication sum:

16 16 17

18 99 20 21

22023

lii. 600, 700, 800

i. 100, 200, 300

iX. 4000, 5000, 6 000

continued @

29 26 2y 23
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=Grouping and sharing problems continued

What does it mean to share? How fast can you share the oranges between the

children? 232920222930
2929329229229
333339232302
2222230 i -
2000 ' &

2999
2000
2999
2900
2929
2909
22239

1. Use the number line to answer the questions.
FIIFFAIIAIND EEEEEEEEEE] FIIFIIIINID FIIFFAIIAIIND FIIFIAIIIND FIIFIAIIIND FIIFIIIINID FIIFIRIIINID
a FIFFIFDIDD FIFFIFDDDD FIFFIFDDDD FIFFIFDIDD FIFFIFRIDD FIFFIFRIDD FIFFIFDDID AIFFIFDIDD
x 2333333333 2333333333 2333333333 2333333333 2333333333 2333333333 2333333333 2333333333
Lk, 3 Lk, 3 Lk, 3 Lk, 3 Lk, W Lk, W Lk, 3 Lk, 3
a3 ] a3 23 23 23 23 23 a3 23 23 23 a3 23 a3 23
SFFIAIFIDID SFFIAIFIDID SFFIIIFDID SFFIAIFIDID SFFIAIFIDID SFFIAIFIDID SFFIFIFDID SFFIIIDID
IRV a3 IRV a3 PRIV a3 IV a3 IV >3 IV >3 PRIV a3 2IFFIY a3
29 2a 29 2a 29 2a 29 2a 29 29 29 29 29 2a 22 2a
SIDIDN 29 SIDIDN 3 SR 3 SIDIBH 3 SIDIDN 3 SIDIBH 3 SR 29 SIS 3
I 23 I 23 I 23 I3 23 I >3 I >3 I 23 33 23

0 100 200 300 400 500 600 700 800

i. How many groups of a hundred do you count?

ii. You can write it as: X

iii. If I share 800 by 8, what will | gete
5 I/\I/\I/\I/\I/\I/\I/—\(I/—\I/—\I/—\I/—\(I/—\I
| | | | | | | | | | | | |

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

How many groups of a thousand do you count?

i. You can write it as: X
ii. If1share 12 000 by 1 000, what will | get?
C. T T

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

How many groups of six thousand do you count@

i. You can write it as: X

If I share 8000 by 8, what will | gete

© 491 2 38 4 8 G ¥ 8 © 90 91 92 18 14




2. Use the number lines to show the following:
a. Share 12 000 between 6.

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000
b. Share 12 000 between 4.

| | | | | | | | | | | | |

| | | | | | | | | | | | |

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000
c. Share 12 000 between 3.

| | | | | | | | | | | | |

| | | | | | | | | | | | |

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

3. Which of these fruits could | share equally?

Number Shared between Each get Remainder
2 000 apples 10 200 0

2 800 oranges 100

3 700 bananas 100

5 250 naartjies 10

9 487 pears 100

18 16 17 98 99 20 21
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Look at the picture.
You have offered to
help the teacher to
re-arrange the books
on the shelves. She
only wants 25 books
per shelf. She has 200
books. Will she have
enough shelf space?

Explain how you got
your answer.

1. Complete the following:

Example:

320 + 8 is the inverse of 8 x 40 = 320
490 + 7 is the inverse of 7 x 70 = 490
360 + 6 is the inverse of 6 x 60 = 360

a. 320 = 8 is the same as

Division is the opposite or reverse
operation to multiplication. We
say that division is the inverse of

8 x 40 = 320, and 8 x 40 = 320 is the \

multiplication.
The inverse of 320 -8 =40 s
inverse of 320 + 8 = 40.

\.
\

b. 400 + 8 is the same as

C. 240 +~ 4 is the same as

2. Complete the following:

Example:

325+ 8isthe inverse of 8 x 40 + 5 = 325
496 + 7 isthe same as 7 x 70 + 6 = 496
368 + 6 is the inverse of 6 x 60 + 8 = 368

a. 352 + 8 is the same as

b. 448 + 8 is the same as

C. 264 + 4 is the same as

3. Complete the following:
Example:

375+8

8 x 40 = 320. There is 55 left.
8 x 6 =48. There is 7 left.
375 + 8 = 46 remainder 8

© 1 2 38 4 8 G 7
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a.459 - 8isthe same as b. 765 = 8is the same as c. 923 = 4 is the same as’ -

4. Calculate the following and then test your answer.

Example:

364 +5 Test your answer:

=(300+50+14)+ 5 72x5

= (300 + 5) + (50 + 5) + (14 + 5) =gl il

= 60 + 10 + 2 remainder 4 = 360 plus the remainder 4

= 72 remainder 4 = 364
a. 463 +5= D= CH2 BB =
d. 496 +8 = Bl 5= [t ot G =

Cutting the rope and cash

a. Ben has a 435 m long rope. He needs 7 equal pieces. How long will each piece of rope be?2
b. Katlego has R180,00. He has to share it equally with his two brothers. How much will each boy gete

18 16 17 98 99 20 21
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:Calculate time

a.m. — any time in the morning between midnight and midday.

Example:
01:00 02:00 03:00 04:00 05:00 06:00

07:00 08:00 09:00 10:00 11:00 12:00

p.m. —any time in the afternoon or evening that is between midday and midnight.
Example:

13:00 14:00 15:00 16:00 17:00 18:00

19:00 20:00 21:00 22:00 23:00 24:00

1. Write down the times shown on the clock:

a.a.m. b.gam Qam d. Qam e. Qam.
o =2 Jpm. or—Jpm o —pm or —Jpm. or —Jpm.

I &L jm/ T j/ee—mﬁ/ [
B, I =0
2a.m. 5p.m.
f, g. h. . i

Qam d. Qam e. Qam.
o —Jpm o —Jpm. oo —Jpm.

//—e‘s/ f/‘//' /@L

60




(od] Qam. d. Qa.m. e. Qam.

or Qp.m. or Qp.m. or p.m. or Qp.m. or

| p.m.

f. g. h. . i

4. Draw the clock hands to show the following times on the clocks:

k. 01:25:03 |. 08:41:44 m. 16:50:57 n. 20:19:32 0. 23:37:59

Find in magazines

Find five pictures of watches in magazines, newspapers and advertisements.
Say why you would or would not buy it.



_ 7
N

S

Caleulate time continued

Every Saturday | do a mountain bike race. These are my finishing times for one
month. Which month was it?

1 hour 20 min

1 hour 15 min

1 hour 9 min

59 minutes

By how many minutes did | improve from my first to my fourth race?

5. Calculate the following:

Example: What is 2:45 + 1:10?
Add the hours: 2+ 1 =3

Add the minutes: 45 + 10 =55
The answer is 3:55

a. 2:10+1:30 = b. 3:30 +4:10 = Cc. 6:40 + 3:10 =

6. Calculate the following:

Example: What is 2:45 + 1:20?
Add the hours: 2+ 1=3

Add the minutes: 45 + 20 = 65
The minutes are 60 or more,

so subtract 60 from minutes (65 — 60 = 5 minutes)
and add 1 to hours (3 + 1 =4 hours)
The answer is 4:05

a. 1:10+ 2:55 = b. 4:40 + 3:30 = c. . 530+5:40=

© 191 2 8 4 8 G ¥ ©® 10 91 92 18 14
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7. Calculate the following:

Example: What is 4:10 — 1:05?
Subftract the hours: 4 -1 =3

Subtract the minutes: 10-5=5
The minutes are OK, so the answer is 3:05

a. 1:40-1:20 = b. 7:30 -4:20 = c. 2220-1:15=

8. Calculate the following:

Example: What is 4:10 — 1:35?
Subtract the hours: 4-1=3

Subtract the minutes:

10-35=-25
The minutes are less than O,

@ so add 60 to minutes (60 — 25 = 35 minutes)
and subfract 1 from the hours (3—1 =2 hours)

The answer is 2:35

a. 13:10-10:15= b. 4:20-3:30 = c. 8:30-6:40 =

. Tmegwas

1h 10°45”" 1h 10’45’ 1h 10°45”" 1h 10°45”” 1h 10745’ 1h 10°45””

My friend and | did various physical activities and timed ourselves. Here are the results on our two stopwatches.
What is the difference between our times?

63

16 16 17 18 199 20 21 22 23 24 286 26 2V 28 290 IV
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1. How many years are there in a:

Century?
q
Decade? |
‘ S,

Deca - ‘
P means 10.
-~
‘@

Decade means
10 years.
P y

Oh! And this is
a decagon. A
shape with ten
sides.

a. Decade®?¢

b. Century?

c. Millennium®e

2. Answer the following questions:
a. Let us count in decades.

1910, 1920, 1 930,

Cent? Century?
Percent?
Centipede?

Oh, | think cent
means 100.

-

Yes, you are

correct.

Millennium?

Yes, it has a

1 000 legs.

Oh, so millennium
means 1 000

years. '..

We do not write
the year 1920 as
- 1920 because it
isadate.

b. Let us count in centuries.

1100, 1 200, 1 300,

c. What millennium will come next?

1 000, 2 000,

3. How many:

a. Decades are there in a century?
b. Centuries are there in a millennium?@

c. Decades are there in a millennium?

© 1 2 38 4 8 G 7
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4. Complete the following:

a. 2 decades =

years

c. 3 millennia =

years

e. 2 millennia =

years

g. 6 centuries =

years

i. 7 decades =

k. 9 millennia =

years

years

m. 2% millennia =

years

b. 3 centuries =

years

d. 9 centuries =

f. 4 decades=

years

years

h. 5 centuries =

years

j- 4 millennia =

years

[. 1% centuries =

years

n. 8% decades =

years

5. Complete the following. The example will guide you.

a. 1995 =1 millennium, 9 centuries, 9 decades, 5 years

b. 1852 =

G0 gE=

ol lLesl) =

e. 2010 =

6. What does “twenty ten” mean?
7. What does “He was born in the 20th century” mean?

8. What did people all over the world celebrate in 2000?

How old am 1?

16 16 17 18 199 20 21

Write your age in:

millennia
centuries
decades
years

22 23 24 28 2B 2y 28 29 IV
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:-Data handling

Discuss: Do you think the children in this class eat healthy food?

1. Complete the table below on the food you prefer.

Cooked porridge

Cereal with added sugar
Cereal without added sugar

Bread
Fruit

Yoghurt @
| don’t eat breakfast

Bacon and eggs

Junk food
Healthy sandwich

Cooked meal

Junk food

Healthy sandwich

Cooked meal

2. Do you think you eat healthy food?

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



3. You asked all the children in your class the same questions. These were théir-
responses. You still need to add up the tallies. Complete the last column.

Cooked porridge Y
Cereal with added sugar Y/
Cereal without added sugar M

Bread "

Fruit /A
Yoghurt /!

| don’t eat breakfast /i

Bacon and eggs

Junk food

/

A

Healthy sandwich

W

Cooked meal

Junk food

W

H

Healthy sandwich

M/

Cooked meal

W o W

0O O T Q

. What is the most common breakfaste
.What is the least common breakfaste
. What is the most common lunch?

. Do most children eat a healthy or unhealthy lunch?

Whye

0]

f. How many children don’'t eat breakfast?

Do you think it is healthy?

Q

. How many children eat a cooked meal for supper?

Whye

.Is bacon and eggs a favourite meal?

Why or why not?

Tally competition ...

In pairs see who can count the tallies the fastest.

I I T T I T o T ) ol )
I I T T I T o T ) ol )
I I I 0 0 0 0 0 o I

continued @

7



292p -*.- Rata handling continued

4. Compile a tally and frequency table with five categories using the information
below. We started the table for you by filling in the categories.

Name Exam score Name Exam score
Denise 55 Elias 65
John 45 Simon 30
Jason 85 Edward 25
Mathapelo 60 Susan a7
Beatrix 79 Philip 64
Opelo 59 Ben 77
Lisa 53 Lauren 49
Gugu 90 Tefo 60
Sipho 63 Alice 46
Lerato 51 Musa 73
Exam Score Tally Frequency
categories @
0-20
21- 40
41- 60
61- 80
81-100

5. You recorded the minimum temperatures per day for the past month.
The results are as follows:

12 13 9 10 11 12 11 7 11 10
10 7 8 12 12 8 13 8 9 9
10 12 10 11 7 11 7 7 13 9
10

Set up a frequency table for this set of data values, grouping the data in six
groups with intervals of two. You will need extra paper for this question.

© 9 2 8 4 8 B v 8 © 10 99 92 18 94 918



\

6. Look at the data collected below and answer the questions.
750 ml

Juice Water Milk Milk Juice Water
Water Milk Milk Juice Water Juice
Milk Milk Milk Milk Juice Water
Juice Water Milk Milk Juice Water
1 000 ml Water  Milk Milk Juice  Water Juice
_ MLk Milk Milk Milk Milk Juice Water
s I Juice Juice Juice Water Water  Water
E Milk Milk Milk Juice Water Milk
5 000 ml Milk Milk Milk Milk Juice Water
Juice Juice Juice Water Water  Water
Milk Milk Milk Juice Water Milk
Juice Juice Juice Water Water  Water

juice Juice Juice Water water  Water

You will need extra paper to complete these questions.

a. What are you going to collect?2 How will you do it2

b. How will you sort (organise) your data?

c. Draw a bar graph.

d. Read the bar graph. Write a paragraph on your findings.

Tally competition ...

In pairs see who can count the tallies the fastest.

What could the possible reason be for these talliese Create your
own scenario. Draw a bar graph to represent your scenario.

9
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2= shapes

What is a polygon? Are all of these polygons? Are these the only polygons there are?

Triangle <:> Square I Pentagon

Rectangle Hexagon Heptagon Circle

1. Colour in all the quadrilaterals.

SVANCON Y
7

2. Answer the following:

a. Is arectangle a quadrilateral?z Whye

b. Is a square a quadrilateral? Why?

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



3. Mark the shape a, b or c. Identify the shapes with:
a. curved sides only
b. curved and straight sides
C. straight sides only

4. Draw five of each. Note that they should look different from the 2-D shapes
above.

a. 2-D shapes with curved sides only.

b. 2-D shapes with curved and straight sides.

c. 2-D shapes with straight sides only

5. Find three shapes in nature or your environment with
e curved sides only
e curved and straight sides
* straight sides only
Make a drawing of each on a separate sheet of paper.

continued &
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6. Identify the following: Label under each shape.
Quadrilaterals; Pentagons; Hexagons; Heptagons/septagons.

<O
0 <)

7. Draw five of each, making sure they look different from the 2-D shapes above

a. Quadrilaterals

b. Pentagons

C. Hexagons

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



8. Draw the following:

Two right angles

Two angles smaller than a

right angle

Two angles bigger than a

right angle

9. Describe each 2-D shape using the following:

a. Name of polygon

d. Right angles (show

b. Sides: straight or curved

e. Angles smaller than a

c. Sides: same or unequal
length, (mark equal

sides)

f. Angles larger than a
right angle (show them)

them). right angle (show them)

i. il. iii. V.

a. Name- a. Name: a Name: a. Name:
b. Sides: b. Sides: b. Sides: b. Sides:
c. Sides: c. Sides: c. Sides: c. Sides:
d. Angles: d. Angles: d. Angles: d. Angles:
e. Angles: e Angles: e. Angles: e. Angles:

. f. Angles:
f. Angles: 9 f. Angles: f. Angles:

16 16 17 18 199 20 21

Shape patterns

Draw a pattern using 5
different polygons.

22 23 24 28 2B 2y 28 29 IV
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Which measuring instrument will you use to weigh objects?

o || B

|
y

ER L EE
33

Q
33333333
i

LR RN

1. These sets of bottles are filled with various quantities of cold drink. Answer the
questions below.

fa_ ) /b ) g N
o o | | e oo Y o o ) || e e o
®
- _ L _J
d. 1 e /n\‘
o o) fr ) fi i
Hitre
- J I\ _J

i. What is the total capacity of each set of bottles (with bottles filled up to the top
measuring line)?

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16
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ii. How much cool drink is there in each set of bottles?

Litres Millilitres Litres and millilitres | As a fraction of a litre
a.2%e 2 250 ml 21 250 ml %e
C.
d.
e.
2. Write the following as ¢ and ml.
3¢500 ml

a. 3,5¢= b. 2,7¢=

@HUDPI= G4 AR OI=

e. 7,250 ¢ = f. 8,320¢ =

(© pgal LA = M OYCR =

i. 925¢= j. 11,15¢=

3. Joan used 2,5 ¢ of water for making coffee, 60,5 ¢ for doing her washing and 3,5 ¢ or

washing dishes. How much water did she use altogether?

Confinue on an exira sheet of paper.

18 16 17 98 99 20 21
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Capacity/Volume continued

4. Say what is the:
e capacity of each container Capacity is...
e volume of the liquid in each container Volume is...
» difference between full capacity and volume

a. b.

Capacity: 500 ml Capacity:

Volume: 300 ml Volume:

Difference: 500 ml — 300 ml = 200 ml Difference: (O}

5. 1 have a 1 000 ml container. It is filled to the 500 ml mark . What should | do to fill it
to full capacity?

6. Make drawings to illustrate your answers. Jabu has 1 | and 250 m | of water to water
his vegetables. Calculate how much the following people have.

© 9 2 38 4 8 6 7 8 © 90 11 12 18 94 16



f b Gugu has one N
Sipho has Linda has 1 € 500 Jameshas1¢ 9
fifth of what Jabu
double the ml to water her 100 ml to water
) has to water her
volume. vegetables. his vegetables.
\_ ) vegetables. )

7. Round your answers off to the nearest litre.

Drawing 1

Drawing 2

Drawing 3

Drawing 4

Collect some junk mail. Find items where measurements
are given in millilitres and litre.

I need to mix the juice concentrate with water for us to
drink it. It says 1 2 to 4 & of water. How much juice will |
have in totale

77
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How many of these blocks do you need to give you a total of 20 000 small cubes?

1. Complete the following:

a.10000 + 1000 + 800 +40 + 2 =
b.10 000 + 5000 + 300 + 60 + 9 = |
C. 10000 + 4 000 + 700 + 6 =
d.10000+8000+60+7:I
e. 10000 + 3 =

2. Write the number in the correct column:

Number

Ten thousands

Thousands

Hundreds

Tens

Units

a. | 15519
b. | 14901
c. | 18007
d. | 10040

10 003

© 191 2 8 4 8 G ¥
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3. Write the numbers in question 2 in words.

4. Complete the following using the first question to guide you.

a. 13 847 = 1 ten thousand + 3 thousands + 8 hundreds + 4 tens + 7 units

18 16 17 98 99 20 21
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25p Numbers 0 —20 000 continued

\4

5. Write the numbers in question 4 in words.

Continue on an extra sheet of paper.

6. Arrange the numbers from the smallest to the biggest.

a. 15147 ,15471,15174, 10 650

o). 1L 2l W) el dlzel | Ao 20l

C. 12541, 12 145, 12 154, 12 415

ol 18 Gty | 113 e5ie) , dlis Bk | 1S 2Efs)

elivi5058 #0055 RlVISE0EHl0555

7. Fillin < or >.

a. 9248 Ig 9284 b. 10 320 Ig 10 230

c.11121 11112 d. 12 041 12 401
e. 13514 14 514 f. 11 212 12 121
g. 15145 Ig 15154 h. 3798 Ig 3788

. 19987 19 978 j. 16616 16 166

© 19 2 38 4 8 6 7 8 © 90 11 12 18



8. What is the value of the underlined digit?

a. 9548 b. 14 874
c. 10587 d. 16 354
e. 18 201 f. 14 008

9. Complete the following:

Y A V1 A

a. Use each digit once, make the smallest 5-digit number:

b. Use each digit once, make the largest 5-digit number:

c.You can use a digit twice, make the smallest 5-digit number:

d. You can use a digit twice, make the largest 5-digit number:

All about numbers

What you need:
Newspaper.

— Find af least five, 5-digit numbers in a newspaper.

- What is the meaning of the 5-digit number?

16 16 17 18 199 20 21 22 23 24 286 26 2V 28 290 IV
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Cut-out 2

Mathematics Grade 5
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Mathematics Grade 5 Cut-out 3

Note: Make dice from these cut-outs. After assembling the dice, keep them in a safe place
because you will use them throughout the year.
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thousands ten thousands
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Mathematics Grade 5 Cut-out 6







